EARAROBEEIERT — 2 N— IBISH —F

201455848 (B) 3m£R3A

m C1—4 C14 ¥5%—M (w8 | imEmml - |5 5) som 8
[AE£] 1%&:170,000  ~ 2% :34,000”  33%&:1500 M . 43%&:11,000 " 53 :6,000 0
& %B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
s - . EFEREA . 01— — £H—8 (&R
1 4 ESITASILR 4 4 an 1.(3_9).5 2-2-1-1 | 40.4 3 (4_276) 5%*1@?
RixF1=gr—2 B:ed¥ava HIMRE Yk
S S 4 8 | BHBHRE 1:39.5 5-4-3-2 | 40.1| — 5 484 | DOREFNE (&R)
2011 |T71Y=bL ¥ 56.0 (7€) (-5 |BEERE
L:¥r=a14> B:3x/)C K= &E LT
. - —\ st o7 | AEE 1:39.6 7-6-6-6 | 39.4 | — 4 509 | DREEFIR (£iR)
37| 7| F>T—RFNT> 5.0 (1/2) (+2) |'BEEE
RA-JXA2 214 B:F>T7—-K/—=TI * 27— Fis
7 A . > 4 | BRERKH 1:39.8 6-7-6-5 |39.6| — 1 428 | BRERSEME (£R)
N« DESEEEEE Rt “ 4| s (a7 Cy |AHRE
R:YPRYZYZIZ B:Ey71)N2 HROUE D45
N BRTF 140. -3-3- . — BEERE (&R
5 8 IS DX 4 4 oo 1(410)0 3-3-3-4 | 40.6 7 :,863; %*2__3_
LBALNT Ry TR BT Ty Y IWE #*%=
- nE= 40. 98- 4| - #EF (£R)
N - BREZEE T it 4 54_0% 1(410)2 9-9-8-8 | 39.4 6 (4:1“5) .
L:T7NhEy b B:TIEYACO— RS
LT st 7 | BREER 1:40.6 1-1-1-2 | 41.6| — 2 472 | EUBBLE (£IR)
7 X 2 a2 IT2R 56.0 2 (-4) HArEF
xR TAANAN BiFNTF—22P 1R ELae]
- 5 | tAch{=E] 42 55— . = FHE (&R)
glglg|¥7avEx 4t o 1(472)0 4-5-5-7 | 42.1 9 (4+238) SoE @
R:75vok—0 B:IVYEXXS> WA fE—
= 4 4 | BEEBLE 1:42.0 8-8-9-9 |41.1| — 8 460 | MAFEES (£R)
95|55 |H77KTL 5.0 7€) (+5) A(*ﬁk) Jy—RRMEY I
L:TUYAZIL K B:vq KY—v— 45
® I—F—@EBIERL
13—7F— 2,4,8,9,1,6,7,5,3
Ao=5"= 2,4,8,1,9,7,6,5,3
33—F— (2,4),(1,8),9,(6.,7),3,5
41—F— 4,(1,2),8,6,7,9,3,5
[ RN
B R 4 620M | | 71 K 1-4 840M | | # = 1-4 2,420M | | =& 1-4-7 4,410M
B B 4 220/ 4-7 490 | | # B 4-1 3,060M | | 3EE 4-1-7 22,500
1 270H 1-7 790M B = 1-4 2,410M
7 1809 B H 4-1 4,620

ABICOVWTRDTEEERROODE. TR LIV,




